


The given pie chart shows the distribution (either in percentage or in absolute value) of 
the number of people who attended a religious conference from five different countries. 
Total number of people who attended the conference from Canada and Taiwan 
together is 4500.
दिए गए पाई चार्ट पाांच अलग-अलग िेशों से एक धार्मटक सम्मेलन में भाग लेने वाले लोगों की सांख्या के 
ववतरण (या तो प्रततशत में या पूणट मूल्य में) दिखाता है। कनाडा और ताइवान से एक साथ सम्मेलन में 
भाग लेने वाले लोगों की कुल सांख्या 4500 है।
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What is the ratio of the total number of people who attended the conference from 
Canada to that from Taiwan.
जिन लोगों ने कनाडा और ताइवान से सम्मेलन में भाग र्लया है उनकी सांख्या का अनुपात क्या है।
1. 1:3         2. 3:2        3. 4:5        4. 5:4        5. None of these
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If the ratio of males from India to France who attended the religious conference is 10:13 
and the ratio of the females from India to France who attended the religious conference 
is 5:2, find the ratio of male to female from India who attended the religious conference. 
यदि भारत और फ्ाांस से धार्मटक सम्मेलन में भाग लेने वालों में पुरुषों का अनुपात 10:13 है तथा भारत 
और फ्ाांस से धार्मटक सम्मेलन में भाग लेने वालों में मदहलाओां का अनुपात 5:2 है, तो भारत से धार्मटक 
सम्मेलन में भाग लेने वालों में पुरुषों और मदहलाओां का अनुपात ज्ञात कीजिए।
1. 2:5         2. 4:5        3. 3:5        4. 1:5        5. Can’t be determined
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The ratio of male to female in Egypt who attended the religious conference is 5:4. What 
will be the difference of the central angle of the sectors corresponding to the 
percentage of the male and the percentage females when it is represented in the given 
pie chart?
र्मस्र से धार्मटक सम्मेलन में भाग लेने वाले पुरुष और मदहला का अनुपात 5:4 है। दिए गए पाई चार्ट में 
पुरुष और मदहलाओां के प्रततशत को िशाटए िाने पर उनके अनुरूप वतृ्तखण्डों के कें द्रीय कोणों का अांतर 
क्या होगा?
1. 10      2. 12         3. 12.5         4. 15        5. None of these
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Find the ratio of the number of the males to he number of the females who attended the 
religious conference from all the given countries. Assume that the number of the males 
and the number of the females who attended the religious conference from each of the 
given country is equal.
सभी दिए गए िेशों से धार्मटक सम्मेलन में भाग लेने वाले पुरुषों की सांख्या और मदहलाओां की सांख्या का 
अनुपात ज्ञात कीजिए। मान लें कक प्रत्येक िेश से धार्मटक सम्मेलन में भाग लेने वाले पुरुषों की सांख्या 
और मदहलाओां की सांख्या बराबर है।
1. 2:3        2. 3:4          3. 4:5        4. 1:1        5. 4:3

India, 25%

Canada, 
1800

France, 20%

Egypt, 30%

Taiwan



If the ratio of the number of the males to the females who attended the religious 
conference from each country is 3:2, find the difference of the number of the males from 
all the countries to the number of the females from all the countries who attended the 
religious conference.
यदि प्रत्येक िेश से धार्मटक सम्मेलन में भाग लेने वाले पुरुषों की सांख्या और मदहलाओां की सांख्या का 
अनुपात 3:2 है, तो सभी िेशों से धार्मटक सम्मेलन में भाग लेने वाले पुरुषों की सांख्या और मदहलाओां की 
सांख्या का अांतर ज्ञात कीजिए।
1. 1800     2. 2500       3. 3600       4. 2000     5. Can’t be determined

India, 25%

Canada, 
1800

France, 20%

Egypt, 30%

Taiwan



Winning percentage of Indian Cricket team in 2016 against various teams out of its total 
won matches.
2016 में भारतीय किकेर् र्ीम के कुल िीते मैचों में से ववर्भन्न र्ीमों के खखलाफ  िीत का प्रततशत।
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If the total matches won by India against Pakistan in 2016 was 18 then matches won by 
Indian team against Sri Lanka was how much percent more than South Africa?
यदि 2016 में पाककस्तान के खखलाफ  भारत द्वारा िीते गए कुल मैच 18 थे तो श्रीलांका के खखलाफ  
भारतीय र्ीम द्वारा िीते गए मैच िक्षिण अफ्ीका से ककतने प्रततशत अधधक था?
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The total matches played between India and England in 2016 was 100 and the matches 
won by India against Australia were 33, then how many matches were won by England if 
none match between India and England was draw?
2016 में भारत और इांग्लैंड के बीच खेले गए कुल मैच 100 थे और ऑस्रेर्लया के खखलाफ  भारत द्वारा 
िीते गए मैच 33 थ,े कफ र यदि भारत और इांग्लैंड के बीच कोई भी मैच नहीां हुआ तो इांग्लैंड ने ककतने 
मैच िीते?
1. 57         2. 43         3. 37            4. 59           5. CND

Other

27%

Australia

11%

Pakistan

9%

Sri Lanka

20%

England

19%

South 

Africa

14%



Number of matches win by Indian against South Africa is 30% less than the number of 
matches win by India against among which of the rest of team.
िक्षिण अफ्ीका के खखलाफ  भारत द्वारा िीते गए मैचों की सांख्या शषे में से ककस र्ीम के खखलाफ  भारत 
द्वारा िीतने वाले मैचों की सांख्या से 30% कम है।
1. Australia    2. England    3. Sri Lanka     4. Others      5. None of these
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The difference between the matches won by India against Pakistan and matches drawn 
between India and Pakistan is equal to the matches India loose against Pakistan. If 72 
matches are played between India and Pakistan, find the total matches win by India in 
2016.
भारत द्वारा पाककस्तान के ववरुद्ध िीते गए मैचों और भारत और पाककस्तान के बीच अतनखणटत मैचों के 
बीच का अांतर भारत द्वारा पाककस्तान के ववरुद्ध हारे गए मैचों के बराबर है। यदि भारत और पाककस्तान 
के बीच 72 मैच खेले िाते हैं तो 2016 में भारत द्वारा िीते कुल मैच ज्ञात कीजिए।
1. 400   2. 200    3. 360    4. 800   5. Data Inadequate
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The following pie-chart shows the hourly distribution of all the major activities in a day of 
a student.
तनम्नर्लखखत पाई चार्ट एक छात्र की एक दिन की सभी प्रमुख गततववधधयों के प्रतत घांर्ा ववतरण को 
िशाटता है।
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Find the percentage of the time which he spends in school.
उस समय का प्रततशत ज्ञात करें िो वह स्कूल में बबताता है।
1. 25%                2. 33.33%               3. 29.16%                  4. 35%                  5. None
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How much percent time he spends in games in comparison to sleeping?
सोने की तुलना में वह खेलों में ककतना प्रततशत समय व्यतीत करता है?
1. 20%                2. 25%               3. 33.33%                4. 30%                5. 24%
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If he spends the time in games equal to the home work and remains constant in other 
activities; then find the percentage decrease in time of sleeping.
यदि वह खेलों में गहृ कायट के बराबर समय बबताता है और अन्य गततववधधयों में जस्थर रखता है; कफ र 
सोने के समय में प्रततशत की कमी का पता लगाएां।
1. 12.5%                 2. 33.33%                    3. 50%                    4. 25%                     5. 25%
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What is the difference in time (in hours) spends in school and in home work.
समय (घांर्ों में) स्कूल और घर के काम में क्या अांतर है।
1. 3 hrs.              2. 4 hrs.                 3. 5 hrs.               4. 3 hrs.                 5. None of these
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If he spends 1/3rd time of home work in Mathematics, find the number of the hours 
spends in rest of the subjects of the home work.
यदि वह गखणत में गहृ कायट का 1/3 समय खचट करता है, तो गहृ कायट के बाकी ववषयों में घांर्ों की 
सांख्या का पता लगाएां।
1. 1 hrs.             2. 2 hrs.                  3. 3 hrs. 4. 4 hrs.                  5. 5 hrs.
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